
 

 

15. 4. 2020 

Př. 1: Řeš následující rovnice: 

2𝑥 + 3 = 19 

6𝑘 − 5 = 25 

3 + 5𝑘 = 8 

7𝑧 − 9 = 5 
8𝑟 − 4 = −12 

10 + 5𝑓 = 10 

𝑠 + 4 = 0 

𝑟 + 8 = 3 

𝑤 + 12 = 20 

3𝑟 + 3 = 102 

Řešení: 

2𝑥 + 3 = 19 
         2𝑥 = 19 − 3 
         2𝑥 = 16 
           𝑥 = 8 

6𝑘 − 5 = 25 
         6𝑘 = 25 + 5 
          6𝑘 = 30 
             𝑘 = 5 

 

3 + 5𝑘 = 8 
        5𝑘 = 8 − 3 
        5𝑘 = 5 
          𝑘 = 1 

7𝑧 − 9 = 5 
         7𝑧 = 5 + 9 
         7𝑧 = 14 
           𝑧 = 2 

 

8𝑟 − 4 = −12 
        8𝑟 = −12 + 4 
         8𝑟 = −8 
           𝑟 = −1 

 

10 + 5𝑓 = 10 
          5𝑓 = 10 − 10 
          5𝑓 = 0 
            𝑓 = 0 

 

𝑠 + 4 = 0 
       𝑠 = 0 − 4 
       𝑠 = −4 

𝑟 + 8 = 3 
       𝑟 = 3 − 8 
       𝑟 = −5 

 

𝑤 + 12 = 20 
        𝑤 = 20 − 12 
        𝑤 = 8 

 

3𝑟 + 3 = 102 
          3𝑟 = 102 − 3 
          3𝑟 = 99 
           𝑟 = 33 

 

 

 


